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B ## 10/13 Yy—>3av|10/27 )—o3>| 12/15 CAS [ 12/22 /KA T—
a—Fk A-B c+D E F-G
B1E =) 2 Revival 3D.J 4BO’s S5ACUH-X | B | & |IEk
1BEYST E — 1]E — 6|C — 3[A — 2
2 Revival E — 1 D — 5 A — 3 cC — 2
3D. J E — 6|D — 5 E — 3|A — 5
4BO’s c — 3|]A — 3|E — 3 cC — 5
S5ACUH—-X|I A — 2(C — 2|A — 5| C — 5
%?2%5 182359357 2 KWH>J 3 Btk 49— /\—X 5 FRBh B | & |IEGL
1€5957 E — 2| C -— B — 4[A — 1
2 RiEpy57 E — 2 E — 5|B — 1 |D — 4
3 Bk cC — 1|E — 5 C — 4| A — 4
49z——X|(B — 4|B — 1| C — 4 D — 1
5 FRBf A — 1|D — 4|A — 4D — 1
BFIEGLRE BZi181 | F — B 1ER2{
BF1E34L F — 3 BF 15441
BFANBZE BRiMe | F — 2| BFesim
BFILUR)— Bxo8p2f | G — 3 | B 28831
TF 1EBEYST 3D.J 4BO’s B | & [IE
1BO’s E — 4| F — 4
2D. J E — 4 G — 1
3REHYST F — 4| G — 1

¥ B—2, 3, 5l&Ea%L
¥ D—2, 3, 5lEEEkL
X G—2, 4lFEAhkL




